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QUESTION 1

The objects on a 4-node vSAN cluster are assigned a RAID-5 policy. A network outage occurs, causing host one to lose
connectivity with the rest of the cluster. Seventy-five minutes have elapsed. 

What is the health state of the objects? 

A. Reduced availability with no rebuild 

B. Non-availability related incompliance (non-compliance) 

C. Reduced availability 

D. Reduced availability with no rebuild - delay timer 

Correct Answer: A 

 

QUESTION 2

After a recent data loss event, the IT department plans to deploy a DR site using vSphere Replication with vSAN
providing the storage backend. 

The architect would like to know how many components will be created based on the following configuration: 

2x 100 GB VMDK RAID 1 vSAN Storage Policy 4x Point in Time snapshots 

How many components will be created? 

A. 32 

B. 24 

C. 16 

D. 8 

Correct Answer: B 

 

QUESTION 3

A vSAN administrator has recently upgraded a vSAN cluster to 7.0 U1 and has enabled Capacity Reserve features to
reduce the amount of capacity reserved for transient and rebuild operations. 

Which scenario would prevent this feature from operating properly? 

A. The physical disk has reached an 80% full reactive rebalance threshold. 

B. The used space on vSAN datastore exceeds the suggested slack rebuild threshold. 

C. The used space on vSAN datastore exceeds the suggested host rebuild threshold. 
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D. Underutilized space is above 25-30% of the total capacity threshold. 

Correct Answer: D 

 

QUESTION 4

An administrator is enabling vSphere HA and vSAN on the same cluster and needs to use a configuration that is valid
for vSphere HA Heartbeat datastore. 

Which configuration should be used? 

A. A datastore mounted to more than one host, as well as any vSAN datastore 

B. Any datastore mounted to more than one host 

C. Any datastore mounted to more than one host, but not a vSAN datastore 

D. vSAN datastore as vSphere HA Heartbeat datastore 

Correct Answer: C 

 

QUESTION 5

A vSAN administrator is using the vSAN ReadyNode Sizer to build a new environment. While entering the cluster
configurations, a fellow colleagues inquire about the Operations Reserve option. 

What is the purpose of using this option? 

A. Configures space for external operations 

B. Provides space for internal operations 

C. Reserves space for tolerating failures 

D. Allocates space for vSAN upgrades 

Correct Answer: B 
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